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The Ashokan inscriptions were engraved in which script ?

(A) Magadhi (B) Brahmi

(C) Pali (D) Devanagari
©3ReTS IIABNEY 0359053 O201 FFwNal 2

(A) =onQ (B) 2%,

(C) =® (D) dessTond

The ruins of Harappa were first noticed by

(A) Charles Mason (B) Dr. Sahni

(C) M. Wheeler (D) M.S. Vats
TO[E LINYTBCRNYTY, BRTLO THTISRATEITO

(A) wfs DeAE (B) woo. m03y

(C) 0. et (D) o0.o9%5°. wotsd

Akbarnama was completed by Abul Fazal in

(A) 7 years (B) 8years

(C) 9years (D) 10 years
O FWT, BT T DTVBTY IRENSS) FPENRRPATH.

(A) 7 =Iened (B) 8 &Xened

(C) 9=Iensd (D) 10 &Renshd
Both Buddhism and Jainism laid stress on

(A) Worship of God (B) Self-mortification

(C) Non-violence (D) None of these
ARlagMCY z%‘ep PeNENLSTHH i 23] QT

(A) 5%3 TS (B) eﬁsé—aimwss-a‘%

(C) w&ox (D) oxme vy
The founder of Portuguese power in India was

(A) Danes (B) Salsette

(C) Albuquerque (D) Vasco-da-Gama
QRTITE Bpeede NCAT 93 @mwwm

(A) et (B) moerfRes®

(C) werfensss (D) &9RR,eEMID
What is the approximate equatorial circumference of the earth ?

(A) 30,000 km (B) 35,000 km

(C) 40,000 km (D) 45,000 km
IR0 RTRT :g)gd L0 JOY a;’% ?

(A) 30,000 3.e0e. (B) 35,000 3.0e¢.

(C) 40,000 3.ce. (D) 45,000 3.&0e.
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10.

11.

G.K.

Corbett National Park is in

(A) Bihar (B) Assam
(C) Uttarakhand (D) Madhya Pradesh
Fo02JeEs® DURIT woFoE 39T.
(A) Dzo (B) A0
(C) woZooauom (D) mqsz@p"eeﬁ
In which season is the frequency of tropical cyclones in the Bay of Bengal maximum ?
(A) During Monsoon (B) After Summer
(C) During Winter (D) During Autumn
wory  3pdond, R&TU’ FHFpeaned emd  (frequency) olesm  FeEd
RWHNTHZE ?
(A) SRIFRRIT Fow (B) eanio®n so=T
(C) wBdMmo (D) 3TS® Tow

Consider the following rivers :

(i) Barak (i)  Lohit (ii1)  Subansiri
Which of the above flows/flow through Arunachal Pradesh ?
(A) (i) only (B) (ii) and (iii) only
(C) (i) and (iii) only (D) (i), (ii) and (iii)
3FTOE TONTY, TOMEDR)
(i) oo (i) Secs® (i) =IO
2RINGE 039 F / SONKD WTHHENIY T,3eTT THRWT TOO3NTES ?
(A) (i) =28, (B) (i) &0 (iii) =28,
(©) (i) =0=; (iii) 58, (D) (i), (i) =23 (iii)
Apart from Tamil Nadu, Lignite is found in
(A) Gujarat (B) U.P.
(C) West Bengal (D) Orissa
BENDTIE BRTD TR ) é’)ﬁ;déz@ BRTRIZ.
(A) ™oRoISE (B) w030 Z3e3
(C) B3 womed (D) oAy
Which of the following taxes is a progressive tax ?
(A) Customs Duty (B) Sales Tax
(C) Excise Duty (D) Income Tax

e i?\raéédaﬁ 30Ny wBreemed (progressive) 301 035oz)T0 ?
(A) (3R, BAY) EDI-TF), W08
(B) @=ooLs 321
(C) ©wzd =0T
(D) esmo0 301



12.

13.

14.

15.

16.

The earlier name of WTO was
WTO & %083 3R

(A) UNIDO (B) UNCTAD
(C) OECD (D) GATT

Chairman of the 13" Finance Commission is
(A) Vijay L. Kelkar (B) Millen Kumar Banerji
(C) C.Rangarajan (D) C.K. Jaffer Sheriff

13 3¢ BOTAT BO3ReNT @@6%53
(A) DWOI® . Fee),0f (B) 0SS 3O00TT RRIBE
(C) &.Tonoows® (D) 2.3. 0FT° [Oex®

The existence of a parallel economy or Black Money :
(A) Makes the economy more competitive.
(B) Makes the monetary policies less effective.
(C) Ensures a better distribution of Income and Wealth.
(D) Ensures increasing productive investment.
He0m003T RS (parallel economy) &F ) TOT ATONT

(A) SRT30D, T, BEOE 3, TR,
(B) TcaBomd Q0N TR BOBITNTO0INEZH.

(C) &m0 HH FOBYT L0 BoTonay, 2R REDIH.

(D) ©VZIET BRBIFOD B ST, 80 TRIAST.

Dallal Street is situated at

(A) Paris (B) London
(C) Mumbai (D) New Delhi
Tt g ee3f 893.
\é_sj (32}
(A) =0=* (B) oot
(C) &=owak (D) Sy &
The method of proportional representation is adopted in the election of
(A) Prime Minister (B) President of India
(C) Chief Justice of India (D) Governor

LONTS m\)@ss% (proportional  representation)  OGOTETY
AL IRIgvicial

(A) TP =008,
(B) 2pT=x mg)wé}ﬁ%ﬁa
(C) 2PTST oy TOIPHEST

(D) zxmém@do

HPTBOHO
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17.

18.

19.

20.

G.K.

The Panchayati Raj Institutions in India are established as per constitutional directions of

(A) Federalism (B) Directive Principles
(C) Preamble (D) Fundamental Rights
NDletcialfEslelblevvicalieptan ﬁo—gws& RONPIIT Scﬁgeaﬁsﬁ@%oja Wg&ﬁwﬁcﬁ_
(A) Fweod=o (B) 3ce3T IZND
(C) 2¢e®3F (Preamble) (D) Swewzing TB,NW
The first woman to become the Speaker of a State Assembly in India was
(A) Vijayalaxmi Pandit (B) Shanno Devi
(C) Sucheta Kripalani (D) Rajkumari Amrita Kaur
QIITIT 2000 TITT PO AeIoD AETFTE &N 03,0398 JFeH WY
(A) Do, , Soks? (B) 3Rpe Be
(C) =dez %5@3?\3 (D) ToxB0Hod @e,@ TITT

The Parliament has no power to get removal of
(A) Comptroller and Auditor General
(B) Supreme Court Judges
(C) Chairman of UPSC
(D) High Court Judges
SO ot TR, FENRRTRL ©HTIT VAT HY.
(A) Todpuo® wokt sGWOT RITW’
(B) m’aé’jageag) TOITPLONT TOIIHEST
(C) O30.&.0"°%.%. BTt
(D) ema'é) TY0IPYONT TYOITDEETTI

What is the correct sequence of the given stages that a bill passes through before becoming
an Act ?

I.  Getting published in the Official Gazette

Il.  Admitting Amendments

11 Reference to a joint committee

IV. Presidential assent

(A) 11111V, (B) I, I 11,1V

©) LI v (D) IV, 1111
WOTD TRNAT TIONT BTHE WVPTED 83 IFTOR TOBNG THNRWT 03N FOOINT
BTN ISR ?

. BT mzsésgd@ (Official Gazette) 88 =3RRI

Il SRTRNTTY 2o, TIWH

T 25083 BeodT o SRRYT

V. m%ﬁé’%mﬂ 27} TR0

(A) 1 LIV, B) LUy, v
©) L v (D) IV, 1]
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21.

22,

23.

24,

Barium, in a suitable form is administered to patients before an X-ray examination of the
stomach, because

(A)
(B)
(©)

(D)
Batio

Barium allows X-rays to pass through.

Barium compound helps in cleaning the stomach before X-rays examination.
Barium is a good absorber of X-rays and this helps the stomach to appear clearly
in contrast with other regions in the picture.

Barium salts are white in colour which helps to create contrast picture.
TV JOER BT ) TRENTE 2edoDo wI) BRT TRITY

NeBRMHIE, DT

(A)
(B)

(©)

(D)

23eD0oD0 DT Te WY T BRENed VRIS,

2T Te TOB R Bpuen BTy BPNRRIEL 2Jedodho FoTomE®
EB03H BRRIE.

2Jedon0, DT Te W YUTEDN BOIANRIR, BZO0T VIFEOT 1T
QRNNPNOT BRE O yont Rog3zan FACDIT.

JedoPo TN DPOH  WRWNT INFZ  SRT BT, FRED
Sleaplaeiciag

Which of the following waves can propogate in vacuum ?

(1) Radio waves (i) Light waves
(iii) X-Rays (iv) Ultrasonic waves
(A) (1), (ii) & (iii) (B) (i), (i), (iii) & (iv)
(C) (i), (iii) & (iv) (D) (i) & (iv)
TINTPNYE 03N AETTOR BESHRWYY ?
(i) TBerodne wSnsd (i) 23933 SN
(iii) @T5Tensd (iv) Smmodes wdnyd
(A) (1), (ii), & (iii) (B) (i), (i), (iii) & (iv)
(C) (i), (iii) & (iv) (D) (i) & (iv)
Among the following, which one is not an Ape ?
(A) Gibbon (B) Gorilla
(C) Langoor (D) Orangutan
FINTPYNYE 03I T (Ape) Moo REdY ?
(A) ny® (B) R»dy
(C) oonwT® (D) eToomedn®
The study of the relation between animals and plants to their surroundings is
(A) Ecology (B) Ethnology
(C) Genealogy (D) Entomology
TREINH T ARND wYNY TORTBNREN BRODTIE BOWOPNY B30NTY
(A) =o=T ébzsgﬁ (B) =Joon ébzspéﬁ
(C) Zozmoz=® (D) ®e& e

6 G.K.



25. Colour of flowers is due to
(A) Chlorophyll
(C) Phytochromes

(B)
(D)

Melanin
Anthocyanins

TBAYINYE eggnied ef:Dlelolalelaplgvictal

(A) Bpedneder
© ﬁﬁfaeé@emﬁo

(B)
(D)

BRI
SOPRTYIT,

26.  Which one of the following is a plant hormone ?

(A) Insulin
(C) Gibberellin

(B)
(D)

BINTHNIVE TR, TOBHECT® IR ?

(A) 2RO
(C) NeJod®

27. Viruses have
(A) DNA only
(C) either DNA or RNA
3{;3‘:9 N o) BR01E.

(A) B.0°.Q. &9E,
(C) &.OT.Q. B STS.OTE.R.

28. Which one is a water soluble vitamin ?
(A) Vitamin A
(C) Vitamin D
3@65@ TOTOE NE3NNT O9Y TR ?
(A) eI D

(C) DN &

(B)
(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)
(D)

Thyroxin
Estrogen

RNA only
both RNA and DNA

STE.DI°.Q. TP,
8.00%.0. T ST°.QF.0. ATER

Vitamin C
Vitamin E

QEIWTT A
W&V A

29. Which one of the following is a Bleaching agent ?

(A) Potassium Chlorate
(C) Copper Sulphate

(B)
(D)

2NN eeson® 02lots® IR ?

(A) Speedodo 3Redees®
(C) T BSge
G.K.

(B)
(D)
7

Hydrogen Peroxide
Silver Nitrate

RERLBIT BoY, f&°

2QOF @%@&ﬁ



30. Match the following and choose the correct option :
a.  Hydrogen Peroxide 1.  Etching of glass

b.  Silver Bromide 2.  Purification of air
c. Ozone 3. Bleaching agent
d.  Hydrofluoric acid 4 Photography
Codes :
a b c d
(A) 3 4 2 1
(B) 3 1 2 4
C) 2 4 1 3
1 2 3 4

(D)
@qﬁs@mfa‘aﬂ BROOR ADOIPT YVZTEY, TR
a. aﬁ‘e}cﬁ.@ﬁua@ £U@§Jt§€ 1. mT #heed 3Tod0)m

b. 29T dpedE’ 2. ™Yo BoQeFTH
c. b.dneeat 3. Deuont Ledoest
d.  IRERL[RCOS A& 4. Fpeldeen
Codes :
a b C d
A) 3 4 2 1
B 3 1 2 4
) 2 4 1 3
1 2 3 4
31. Famous Golf Player Vijay Singh is from which one of the following ?
(A) Fiji (B) Mauritius
(C) Malaysia (D) India
@%Cg TR, e3E3MOT WRODAONT, FYNT 0359&8 BeBTEH ?
(A) &2 (B) =500R"®
(C) =3edod (D) @o&od
32. The term “Butterfly Stroke” is associated with
(A) Kabaddi (B) Wrestling
(C) Swimming (D) Boxing
“e0t3T® ﬁ@df‘u@ e QOLNTH 7Y FoWORAT.
&
(A) 328 (B) 393
(©) s (D) emgon?
33. The player who won ‘mixed doubles’ in US Open 2015, with Martina Hingis is
(A) Rohan Bopanna (B) Leander Paes
(C) Somdev (D) Mahesh Bhupathi
O30.AF LBRY 2015 T <03 BeFRE NG &Smede S BoNT® 8eST BeS-6e3nmes
(A) JDneem® 33@@59% (B) Oo3»oms® Jea®
(C) ReeeHTiesss (D) =T iz

8 G.K.



34.

35.

36.

37.

38.

G.K.

Which of the following is a good nuclear fuel ?

(A) Uranium-238 (B) Neptunium-239

(C) Thorium-236 (D) Plutonium-239
FINTINYY 03PY D LT zé‘ef‘,’bé QORI ?

(A) o303BeQono-238 (B) 3@%@00330-239

(C) PwredoD0-236 (D) ) e30eQ0o30-239

A thermostat is a device used
(A) for automatically maintaining a steady temperature
(B) for measuring electricity
(C) to reduce voltage
(D) for producing heat
amg@w DO LYVTITEITIY N IR

(A) FoDowdzmen 986 SAESCISMIY aoﬁag%?\ra%e)a
(B) &méaswéoﬁg L9P80DED

(©) a";aeegezsf SNEeD

(D) DosvsSTy wOTIEAEED

Cryogenic engines find application in

(A) Rocket technology

(B) Frostfree refrigerators

(C) Submarine propulsion

(D) Researches in super-conductivity
30300223 oW S8 wed BR0DI.

(A) Todes® 30@2@, s

(B) FoRTRL SR wTeL3T?,

(C) =erfdaf RpBOTBST

(D) wdmomz3nt (Super Conductivity) Bo2)oQE RoBeeEaoRnd
Who among the following laid the foundation of nuclear science in India ?

(A) Vikram Sarabhai (B) Homi J. Bhabha

(C) M.G.K.Menon ([%2 Raja Ramanna
QRTITE) £)eesead RTT IFHE Tod TR0

(A) QTR TOTATON (B) RRCoW. 23. 239230

(C) «0.23.3. DIz (D) oToese Tosdey

In a Barometer, Mercury is preferred over water, because
(A) Mercury is good conductor of heat.
(B) Mercury shines and its level can be read easily.
(C) Mercury has high density and low vapour pressure.
(D) Mercury is available in pure form.
LRTBREWCLITITEY EOT WEON TTWTAT WHBT STE ABTT DFoTT

(A) DHFCRY NI POFTE

(B) TOTTED BATOIVDTOOT HTT TR, FOUITIN THTOERIBOT
(C) TTRD) Be3T MBS 3y TR LPALOD .3E B00DT

(D) =oETRDY BHFTATTY SpSogc

9



39.

40.

41.

42.

A cup of hot tea on a metal table in a room looses heat by
(A) Conduction and convection
(B) Conduction, convection, radiation and evaporation
(C) Conduction and evaporation
(D) Conduction and radiation

20T FRTRODE wotd deemd ey ed Q3T FROT0E DR Wz

BomoN B Tow FIWDIRHIT.
(A) NFTTI =HH) YOFIODS
(B) FETS, NOFTODS, DT DI RIS
(C) NFSTI DT, WoKEYIST
(D) NFETS =Y H8TR3

A convex mirror makes a good rear-view mirror for a car because
(A) it does not form diminished images.
(B) it has no focal point.
(C) itsimages can be thrown on a screen.
(D) it forms erect, reduced images.

2,000 SO TTE Y TIOT VI 002D B I ed (Rear-View Mirror) esmoga.

ALfelnle]
(A) & 283,000 TBDOWNTID, YVOED TP AY.
(B) @b Ronad Qo BRodTHHY.
(C) =T B,R2N0NYTY, 2000 TTWOD 200 TITITOD.
(D) & JLNTHES 258,000 B 300N TRIDIT.

Super-conductivity results when matter is
(A) heated to very high temperature.
(B) compressed to very high pressure.
(C) subjected to very low pressure.

(D) cooled to very low temperature.
BTy TN WITTIY, YOOI,

(A) @33 WOFINR soC0ATN

(B) 233 w3me, Ro&eES fedamn
(C) w3k e3rs, wymBATIN

(D) w338 xR Soyriedamon

An excel spread sheet has the extension :

w0 excel spread sheet HOBODTY, BROOT.
(A) .doc (B) xls
(C) .ppt (D) .exe

10



43.

44,

45.

46.

47.

48.

G.K.

How many kilobytes make a megabyte ?
20T &ma@fzﬁﬁ’ DT, %eﬁmﬁu&zfﬁ% ?

(A) 128 (B) 1024
(C) 256 (D) 512

A set of instructions telling the computer what to do is called
(A) Mentor (B) Instructor
(C) Compiler (D) Programme

200 TOBAKOTR, 0INT TODETIFRY BREIFOT @D AT, O
FOIHIT.

(A) Sooeio (B) a% 30°

© éoﬁepcﬁ‘ (D) Bpemoe
Most essential component of a Refrigerator is

(A) Motor (B) Cooling tubes

(C) Compressor (D) Refrigerant
2000 T RTCLITTS WS T80 Ion

(A) RecezoT (B) spdornt 3R,

(C) BozA (D) T wToes®
Tomato is a natural source of which acid ?

(A) Tartaric acid (B) Oxalic acid

(C) Acetic acid (D) Citric acid
RT3 038 BRT FRNET RWINE ?

(A) 00T e (B) &30 W

(C) waEds® e (D) 2&3° e

A book-seller buys books at a commission of 20% on the marked price. If he sells the books
at the marked price, his gain will be

W) JFT TTWNITD, JFING]R, wINY o ddod PHed 20% T
003300 i@%%@gi WRINID), WINY 0 (marked price) 3SR 50T w=E
(St @@mgﬁ 2

(A) 20% (B) 25%

(C) 10% (D) 30%
Which one of the following is used in welding ?

(A) Methane (B) Ethane

(C) Acetylene (D) Benzene
23RN FooDETY IYTOE 03T, WIRTTOZE ?

(A) oegest (B) B33cx’

(C) wre3dex® (D) 3xfest

11



49.  Which of the following adds Carbon-dioxide to the carbon cycle on earth ?

1.  Photosynthesis 2. Respiration

3. Decay of organic matter 4.  Volcanic action
Codes :

(A) 1land4only (B) 2and 3only
(C) 2,3and4only (D) 1,2,3and4

2RO RO BEZ, IYNT 0303 $,0M VTP c%eai:f’op ReoR0Zas ?
1L @3 RoeR 8,0
2. QLTI
3. R0TOPET SN T oDRRRT)
4. ONBIEING $od

Codes :
(A) 13024 =398, (B) 230353508,
(C) 2,334 =08, (D) 1,2,3x034
50. ORT (Oral Rehydration Therapy) is associated with the treatment of

(A) Anaemia (B) Beri-beri
(C) Cancer (D) Diarrhoea

2ot © £€_§)€e—-’m€ @S (ORT) S 8831 FowoRAT.
(A) ©@Qeewod (B) 230 230
© %Dédfpe (D) w&=oT

51. The plant dye “‘Henna’ imparts orange red colour to skin and hair due to its reaction with
which of the following ?
(A) Proteins and amino acids (B) Lipids
(C) Carbohydrates (D) Nucleic acid
ZINT 03YTT BR3INT §,0HAomaN, AR, Y By, BRTL T WD, $3Y

305y 2J6Q CTT3 ?
(A) Bpeeseatnish ) WRAe PN
(B) Oz ned
© aairasa“’oﬁeésfq
(D) SeEs® st

52. The famous international company “De Beers” is engaged in the business of

(A) Lager Beer (B) Animal Skins
(C) Shares and Stocks (D) Diamonds
BAT BOTTTIY oD FOT, ‘B DT 39 To0RY 3pmN.
. & >
(A) %o Deo® (B) ANy wee

(C) Reoorivs DI TF N (D) Sewfieh

12 G.K.



53.

54,

55.

56.

57.

G.K.

Name the first Indian who found place in the cover story of Forbes Magazine.

(A) Anil Ambani (B) Dr. Reddy
(C) Azim Premiji (D) Narayana Murthy
‘Fpeefs’ SHNBTTIQ SR ST Fom ol BRTY {PRTIOH .
(A) QU 2oL (B) .38
(C) eedeo Beass®el (D) TOTO0E s BE
Which of the following is the highest honour in India in the field of literature ?
(A) Vyas Samman (B) Kalidas Samman
(C) Jnanapith Award (D) Saraswathi Samman
%0 DPNTE 2700ITE @ ZTHT U 90w
(A) R BZR,DE (B) zoPm9R A,
© r) ST T3 (D) =THS "S,¢
The first recipient of Human Rights Award is
(A) Leach Walesa (B) Nelson Mandela
(C) Andrei Shakarov (D) Amnesty International
ST T/BYNY TBY (Human Rights Award) SR Be B80T
(A) G5° oder (B) R sdoddeen
(C) wo&, 330’ (D) &3}, otT TRIE
Meganath Saha award is given for outstanding contribution in the field of
(A) Journalism (B) Science
(C) Social Service (D) Literature
DTG AT’ TJYODT, NPT BREFZ FRENRNIN AEELRTOSE.
(A) w%%aecdéwo (B) o33
(C) =mwm Ress (D) =03

Which of the following are G4 nations that support for each other’s bid for permanent seat
in UN Security Council ?
(A) India, United States, Japan & Germany
(B) Germany, Great Britain, Japan, India
(C) India, Japan, Germany, Brazil
(D) India, Japan, France, Brazil
2T, —N’o—-ﬁ@?oja ITZ0 TOGEPODNY aRo0 AOA;
U@\%ﬁ% FNIPYINTYE o3weyy ?

(A) 23903, 0T FoodnT RO, WTIIE 0y ®WINEX
(B) =a0EQ, 13ees® QE3NT, RTont, 30T
(C) 23903, wmIRF, RIDEQ), WIS
(D) 2RTS, BZRP, T, L3R
13
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58.

59.

60.

61.

62.

63.

National Planning Commission has been replaced by
(A) Knowledge Commission (B) Finance Commission

(C) NITI Ayoga (D) Development Council
m%@oﬁa SRR S03ReNE wREON FRRTINTII _'NJO_'Q%J

(A) 23 esodeen (B) =ca939R0 e3030en

(C) ed sodeen (D) T[ne sodeen
Which of the following banks changed its name as Axis Bank Ltd. ?

(A) HDFC Bank (B) Lord Krishna Bank

(C) Centurion Bank (D) UTI Bank

‘38R 29,057 O DO TR WEOREL0TE R0 O3PHT ?
(A) Bes®.8.05° 2. w080 (B) oo B 08¢
(C) RoBedoH® 233,03° (D) o3w.83.%0. 233,03°

Abhinav Bindra got gold medal in the Asian Championship 2015 in which of the following
events ?

(A) Archery (B) Boxing

(C) Shooting (D) Cycling
2015 T QQODTE 239020NTTITIRE I¥T0E 03T FLEoNd wHTD® Doy, BFT

IWT NOATTY ?

(A) 323D (B) 3o
(C) Bet3on® (D) fidéon@

Lord Curzon made the partition of Bengal in the year
REEE FWE R VST WOTRYEIIY TRETO DIRRATTH.

(A) 1918 (B) 1906
(C) 1908 (D) 1905
The recently announced ‘OROP” is related to the retirement benefits of
(A) Military personnel (B) Railway employees
(C) Postal employees (D) Bank employees
2381 BFERAT “20.50° 20.8." 03REWBO3N Q)3 WOLIMOT HoLoRAT.
(A) 0dwd Fow (B) Bge evddnenmsd
(C) 023 JO3TTL (D) 230®0 SOTTTY
Jute fibre is obtained from which part of the jute plant ?
(A) Root (B) Stem
(C) Leaf (D) Fruit
oAl AT 0393 yRNA0T REAQIT TITO WEEODWITHTE ?
(A) 23eTH (B) ®oom
C) o33 (D) ==

14 G.K.



64. Which of the following states is not producer of Mica ?

(A) Bihar (B) Jharkhand
(C) Rajasthan (D) U.P.
FFNS o= Tz f%'@ O, YOSIEAFAY ?
(A) Dzo (B) 2paucoswd
© Uaaswcapa@ (D) 2030 B3e3
65. Which of the following is a tropical monsoon crop ?
(A) Jowar (B) Chillies
(C) Paddy (D) Ragi
BYNT 03593 239 LVFFOODE SeafAea (Tropical Monsoon) @3¢ &N ?
(A) Bnes (B) 093T 390N
C) 3 (D) oon
66. Which of the following sea-ports handle the largest volume of our foreign trade ?
(A) Kolkata (B) Mumbai
(C) Visakhapatnam (D) Cochin
S, VTIED TYTITT W T, TE ATE LWAE WOTTO
(A) 3203 (B) &20200%
(C) QzoaTe3ed (D) 3B
67. Coal is an example of
(A) Igneous Rock (B) Sedimentary Rock
(C) Metamorphic Rock (D) None of the above
é@rg@a T 2,00 YVTIBTBOIIPNG.
(A) o 33 (B) e 36
(C) Tew0ZT 33 (D) edT oSo)emp ¥
68. The first Indian to be elected as a member of ‘British House of Commons’ was
(A) Dadabhai Naoroji (B) Surendranath Bannerji
(C) Dr. B.R. Ambedkar (D) C.R.Das

DET® TAT & TR, 1 03,0308 BRTO 29T S0
(A) TTILION FTTRES (B) ABeommogm WRTRE
(C) wo. D.50°. worderof (D) 2.e30°. oR®

69. Which of the following was not one of the techniques of ‘Satyagraha’ advocated by
Mahatma Gandhi ?

(A) Ahimsa (B) Fasting
(C) Civil Disobedience (D) Non-Co-operation

ST, TIWORONTTL WITAOAT ASYNT 2o3NYE) FFNT oY NedTOY ?
(A) ©ox (B) &VZ9m

C) 2de® amfedeqoda?l (D) wRBFT
G.K. 15



70.

71.

72,

73.

74.

Which of the following is not an “All India Service’ ?
(A) Indian Administrative Service (B) Indian Foreign Service
(C) Indian Police Service (D) Indian Forest Service
TINTPNYEY 030 ‘B’ QOGO Xew’ BNTIHDY ?

(A) otods® eﬂcsabib—i;)eweaﬁ‘ BNERS
(B) 20&00° HIOI® RER®

(C) @oBoN® Jpede® BIERT

(D) okoda® FTAT, BIERT

The maximum amount of energy in the present day world is provided by
(A) Atomic energy
(B) Coal
(C) Hydroelectric Power resources
(D) Liquid fuel
200 BT v £33% Tend 33 (Energy) eooNAETIRY
(A) TT=wew 3
(B) 5@%@3
©) ase)e‘:)d%@@ I8 ROTIR,LND
(D) BTE wops
To which of the following categories does an ordinance belong ?
(A) Executive instrument (B) Legislative device
(C) Judicial device (D) Fundamental duty
‘z’o@em'é’ BFNT 03503 ™o RETHTE ?
(A) BooSweon mops (Executive instrument)
(B) zomzoon mep (Legislative device)
(C) T30 FFS
(D) =rwyles s3cs

The author of the book titled “The Future of India” is

(A) Bimal Jalan (B) Deepak Chopra

(C) Anurag Mathur (D) Amitav Ghosh
“8 @aézﬁce BH ROROIN” PFTT TIE,

(A) Do wext (B) &emze edees,

(C) DTN TPFTE (D) @nzoa® et
Which is the birth place of Kannada writer B.M. Sri ?

(A) Tumkur (B) Gubbi

(C) Madhugiri (D) Sampige
TYRT 8RBT A £.00.9L. =T BT j%}%? O30T ?

(A) 1DBRDD (B) m@s

(C) =ozond (D) =oamt
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75.

76.

77.

78.

G.K.

Who is the Kannada writer who got latest Saraswathi Samman award of 2014 ?
(A) Chandra Shekar Kambar (B) Girish Karnad

(C) Veerappa Moily M. (D) Dr. S.L. Bhyrappa
2014 T ‘HTRS WSR,I° SIR TRT BFEE SeausTd 03T ?

(A) BowBeasT BT (B) NOe3® Tomos&®

(C) 2eTH BRANS 0. (D) @o. &%k, 23&;3);’33
Which of the following are ‘new payment Banks’ permitted by RBI ?

1.  Vodafone 2. Airtel

3. Tech Mahindra 4.  Indian Postal Department

(A) 1,2and3 (B) 2and4

(© 1,2,3and4 (D) None of the above
e309.0).20. A0T VARTIN WTNS TRE “Bead00e3’ OB T 3N @Jaé,gpa@cjd@
T™OTO3A.

1. Ipmoippest 2. Tl

3. &33° ohxeoq, 4. T30 o8 veRal

(A) 1,26333 (B) 2024

C) 1,2,3=0=34 (D) 0edT oSYTL BY
Which is the next number in the series 5, 7, 11, 19, ?
5,7,11,19 T 3edond S00dT :Io@ﬁas oSy ?

(A) 27 (B) 23

(©) 37 (D) 35

Which of the following pairs are correctly matched ?
1.  M.S. Subbalakshmi — Carnatic VVocalist
2. Ravi Shankar — Sitar
3. Birju Maharaj — Bharatanatyam
4.  Allah Rakha — Tabla instrumentalist

Codes :
(A) 1,2and3 (B) 2,3and4
(C) 1,2and4 (D) None of these
39N E?Ja%doﬁ 033953 3RCBN BOO3TN BROOT BIVEBWINES ?
1. Qo.&S. —abag)e)i’gw — BT RONCIT TITEIMITTY
2. TIBoITE -  A30F
3. D= DToIR® - I D9E30
4. o TaJ — 3O T[T
Codes :
(A) 1,23333_0 3 (B) 2,3533_% 4
C) L2 4 (D) @) oon)tw ¥y
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79.

80.

81.

82.

83.

Dr. M.S. Swaminathan distinguished himself in which of the following fields ?

(A) Nuclear Physics (B) Agriculture
(C) Astro Physics (D) Medicine

IINS O3z %@%d@ ®. QONAE.  WEWIFIT OB ERIERITOW

TOTOIRYEITIEIT ?
(A) Deezocad aﬁsm@ (B) &
(C) auntneey o3 2T (D) %déaeosa

The pie chart shows how 540 people travel from their home to office. The number who

travel by Bus is

540 =3 T, WIWOT FHOR Bt Toswe SRR PO

3ReORWING. AR T,0350e8m0e3T %’03325 SNT.

(A) 90 (B) 135
(C) 180 (D) 60
A Railway Station which is renamed after ‘Sangolli Rayanna’ is in
(A) Hubli (B) Raichur
(C) Bengaluru (D) Dharwar
HoriRY, TooDET BROIY HTToe TTLNHORTIT TEd LED =93.
(A) a:%% (B) ToonWBRT
(C) donsnd (D) =oT=m
Where is the Headquarters of ONGC ?
(A) Mumbai (B) Dehradun
(C) Vadodara (D) Digboi
£o.209.23.2. 0% Feots, Feied 3 ?
(A) 002000 (B) BZ,mR T
(C) =dwewso (3)BalapXenvy
Who among the following is not a dancer ?
(A) Geetha Chandran (B) Mamta Shankar
(C) Kishori Amonkar (D) Swapna Sundari
3FT0TETY 03T Ty Ted BNTPH Y ?
(A) Nezo Boga® (B) 0030 o3
(C) 330cD wdnpestso® (D) =, =00owd
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84. Match the two lists :

Person Well known as
a. K.V. Kamath 1. Banker
b. G.M. Rao 2. Environmentalist
c.  Rajendra Pachauri 3. Industrialist
Codes :
a b c
(A) 1 2 3
B) 1 3 2
C) 2 3 1
(D) 3 1 2
3FNS a%ﬁv@m§mﬁ BRODY.
%ﬁoﬁo I Beriomd @mdzmﬁz;@zﬁ’
A  B..ToS’ 1. aaazsoa"ve
b. 22.00. Tos® 2. BORTD
C. To2deod, =90 3. 3 edIeemen
Codes :
a b c
A 1 2 3
B) 1 3 2
C) 2 3 1
(D) 3 1 2
85.  With which game is the term *Bishop’ associated ?
(A) Golf (B) Chess
(C) Billiards (D) Bridge
‘DTDS Qo) T3 03593 LN FOLORAT ?
(A) me}i (B) 83=°
©) ?‘,’)é)ojacgfg (D) é’g)wg
86. Among the following persons, whose birth anniversary is celebrated as ‘Sadbhavana Divas’ ?
(A) Indira Gandhi (B) Rajiv Gandhi
(C) Mahatma Gandbhi (D) Sanjay Gandhi
‘ﬁ%ss QDA s@ 3YT0m oo wééoﬁ %5@3 DRBTBOHOT eﬁasb—m’emmgd’ ?
(A) o0l Moy (B) ToRes® mood
©) waméé aplela) (D) ®owod Moo
87. Where is Firoz Shah Kotla cricket stadium located ?
(A) Delhi (B) Mumbai
(C) Hyderabad (D) Kolkata
B0 & Bcky $,3EF SLcsaoned AT ?
(A) 3=d (B) 0o
©) éb{zmmw@ (D) 3w,z
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88.

89.

90.

91.

Which organ of UNO is considered as World Parliament ?
(A) General Assembly (B) Security Council
(C) International Court of Justice (D) Trusteeship Council
&%Tn’o—-"goja 033933 WOTETRY ‘W) T E00e38” ot TONSIRITHIT ?
(A) =ITUE R (B) 235z ehow?®

(C) wosoag tod TEIUOD (D) BedET FYU?

What is the title of APJ Abdul Kalam’s autobiography ?

(A) Me and Missile (B) My Memories

(C) Sky is the limit (D) Wings of Fire
2.9.28. VLR FLO WST &3, WOZOH deAEF DI ?

(A) 0 o o (B) f%daeﬂrabm@

(C) BO3® S7° & O (D) one a5

If R =18, RAT = 39. According to same rule what is RAY =?
R =18 sm3 RAT =39. ade S%doé’ RAY @053 @;:% ?

(A) 28 (B) 29
© 44 (D) 41
Match the following :
Book Author

a.  Autobiography of an Unknown Indian 1. Mulk Raj Anand
b. India: A Wounded Civilization 2. Nirad C. Chaudhuri
c.  Confession of a Lover 3. R.K. Narayan
d.  The English Teacher 4. V.S. Naipaul
Codes :

a b C d
A 1 2 3 4
B) 2 4 1 3
© 1 4 2 3
D 2 3 1 4

FINTINITRY, BROBA.
23 52,

A SERCIOINMY SF° OF° BRI’ WRODT® 1. &[0ef, Tos® $Tont
b. o&od @ FpodE® %é’b@ﬁeaae 2. QTTE 2. 59wd
C. TR PR BF° @ VTTT 3. =03 SoTooNE’
d. & @onea’ e3eso® 4. QA FFo
Codes :

a b C d
A) 1 2 3 4
B) 2 4 1 3
© 1 4 2 3
(D) 2 3 1 4
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92.

93.

94,

95.

96.

G.K.

In the ‘62" National Film Awards’ who was declared the ‘Best Director’ ?

(A) Raja Mouli (B) Ram Gopal Varma

(C) Srijit Mukherjee (D) Anoop Bhandari
62 3¢ ‘méeﬁseﬁ DU, T S 0390y ‘B ATEEBT’ Q0T PHOROR-
OO0 ?

(A) T =399 (B) TomF¥riecmoer® Seoe

(C) OPrR® I0awBE (D) w3ex° 2Jomd

Who among the following Indian origin immigrants has become the Governor of Louisiana
Province of the USA in 2007 ?

(A) Swaraj Paul (B) Laxmi Mittal

(C) Vikram Pandit (D) Bobby Jindal
2007 T8 @00F Hoo3nd m’o@m QRCNAOIVT W,OBT NBIET® BT LRRTSCOD

BPVT T 03T ?

(A) RO e (B) wb , wger
C) 23F Toazs (D) 238 Bomoer

Which two IPL teams have been suspended for two years, by Justice ‘Lodha Panel’ ?
(A) Chennai Superkings and Kings XI Punjab
(B) Chennai Superkings and Sunrisers Hyderabad
(C) Rajasthan Royals and Kings XI Punjab
(D) Chennai Superkings and Rajasthan Royals
R (SYodnD) TYTS® O3 DT 0.0.QUP. €0 MYy 2 BRENYTON ALON3-

Redre ?
(A) B, RATOE oME, 1R son?, /RS Wower®
(B) @B, ARTTE $0M¢, e FITTRATE BEORRTE
(C) TowmyR® TooDe?, T son?, ATt Wowes®
(D) 88, ;BRSO 801V, s TowAIT® TooDH,

‘Best Picture Award’ in the 87" Academy awards was given to

(A) Still Alice (B) Bird Man

(C) Boyhood (D) The theory of everything
87 S¢ @B BT EID ‘WRI B, BFY 1 AeEERAN.

(A) 2o sO=F (B) 2wfe St

(C) epoHFToEs (D) & 0D s35° HIDHon®
Which of the following countries is not a member of BRICS ?

(A) Brazil (B) Indonesia

(C) Russia (D) South Africa
FINS 03wz 3¢z BRICS S WTE; deBeNY ?

(A) d2ef (B) 2.0@Re3ed0

(C) o= (D) @60 T
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97.

98.

99.

100.

Who among the following was thrice elected President of the Indian National Congress ?
(A) Dadabhai Naoroji

(B) Surendranath Bannerjee
(C) Gopala Krishna Gokhale
(D) Shankaran Nair
3FT0RETY LoRoDT® SRICMNIOH FONRATS WETOMN LT 2D ©5030,0339Ta3TH

O339TH ?
(A) TOTIPON JTTRC
(B) =Teom o WRTRE
(C) Rreemw gF feeand
(D) Zo3TSF TwoNDTE

Which of the following “assesses and acredits’ institutions of higher education in India ?
(A) NAAC (B) Universities
(C) State Government (D) UGC
QPUSTY NFE éfgsa RORNIR, wﬁoéma’s OB THLIENE T[S0 TORE Ao
) @ & }@
oY ?

(A) NAAC (méa@) (B) é’seéé‘bmé@oﬁm%
© masém’asd (D) o3n.2.2.

The State with lowest female literacy rate in India as per 2011 Census is

(A) Bihar (B) Jharkhand

(C) U.P. (D) Rajasthan
2011 T qRTIT RINDS0D TFIT 03593 mzsécdég 98 TR TV m%&o’m CSANDI0
Q3 ?

(A) DT (B) 0a0s0s®
(C) ©v3o B33 (D) mzsm@ae

In the last decade, which of the following sectors attracted highest ‘foreign direct
investment’ into India ?

(A) Steel Production (B) Power Generation
(C) Transport (D) Telecommunication
Y0 ®R 10 SRENYY 27903% FYT0E 03305 FWOD ‘@ éa?% NS JeT WoBY’

ESTRCAT ?
(A) 2O, NUTES (B) de® SNCplaty
(C) =oon (D) €& smIgeaar
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